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SN 2B
MY AMBFINSH(SE)
Sl EOHIMCE o E)
SA - BB B (BA) - MM - BHES Ol &+ o4 il 2
02 M0 32,400 30,600 1,800
0 &AIEZE0HI 150,000& » 18 » 12& 32,400
A ZUIALE 5,000 0 5,000
405 RHoHE S HI 5,000 0 5,000
01 AL EFFHSHI 5,000 0 5,000
0 At Al 2 5,000,000& = 1CH 5,000
SEZH AF 136,600 136,600 0
== A 120,860 120,860 0
A2 FU=SJAAY 120,860 120,860 0
401 Al HIZ 201 8] 120,860 120,860 0
01 A& HI 120,000 120,000 0
0 ARE =P=RAY 40,000
0 JIE 02 ZEHIAY 20,000
0 && ot FHlAY 20,000
0 =& etz FHlAY 20,000
0 214l etd HHIALEY 20,000
03 Al S THHI 860 860 0
0 FU=AAL AL=0Y 860
SH HUAF MY 15,740 15,740 0
S22 ZHAY 2,000 2,000 0
401 AIEHI L 20HEI 2,000 2,000 0
01 A& HI 2,000 2,000 0
0 3SEXEHISA 2,000
MAE 20| Iles dts =24 7,500 7,500 0
101 @124 dl 6,000 6,000 0
04 JIZHHZ22XREE S 6,000 6,000 0
0 ALAHIE 20| Ils ots =4 2] 6,000
206 = Hl 1,500 1,500 0
01 MHZ 4l 1,500 1,500 0
0 AFHIZE Z0] Il= ots =248 M7 1,500
SSHEY FA2e 3,240 3,240 0
201 LBH2EH| 3,240 3,240 0
01 At 22/l 3,240 3,240 0
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Bu: 230 A
SHol: SP MYHUF A CER-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
0 BEs&a RFAAL A2EFFY 3,240
E2RA ZelAY 3,000 3,000 0
401 Al HIZ 201 8] 3,000 3,000 0
01 A& HI 3,000 3,000 0
0 E2RAZelAY 3,000
HY2AZH (SEBH) 39,000 33,380 5,620
Jl2ddl(ssd) 39,000 33,380 5,620
Jl2dul(ssd) 39,000 33,380 5,620
201 £B-2dH| 28,080 22,500 5,580
01 At 22l 28,080 22,500 5,580
0 LBt HI(SE) 700,000& = 189H 12,600
OMEFRSEE 15,0008 * 65 * 128 1,080
0 SHI(3S) 8,000& = 18 « 100 14,400
203 YR =&l 10,920 10,880 40
01 71228 YR =2 6,600 6,600 0
0 6,600
02 33 H 2= 720 680 40
0 & A& Z 40,0003 = 18 720
04 FN2ELRZ=TH| 3,600 3,600 0
0 BME2Z 300,000& = 12& 3,600




